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4.9 Exporting SPSS output 

If you want to share your SPSS output with other people who don’t have access to IBM SPSS Statistics, 
you have two choices: (1) export the output into a software package that they do have (such as 
Microsoft Word) or in the portable document format (PDF) that can be read by various free software 
packages; or (2) get them to install the free IBM SPSS Smartreader from the IBM SPSS website. The 
SPSS Smartreader is basically a free version of the viewer so you can view output but not run new 
analyses.

4.10 The syntax editor 

I mentioned earlier that sometimes it’s useful to use SPSS syntax. Syntax is a language of commands 
for carrying out statistical analyses and data manipulations. Most people prefer to do the things they 
need to do using dialog boxes, but SPSS syntax can be useful. No, really, it can. For one thing, there 
are things you can do with syntax that you can’t do through dialog boxes (admittedly, most of these 
things are advanced, but I will periodically show you some nice tricks using syntax). The second ben-
efit to syntax is if you carry out very similar analyses on data sets. In these situations, it is often quicker 
to do the analysis and save the syntax as you go along. Then you can adapt it to new data sets (which 
is frequently quicker than going through dialog boxes. Finally, using syntax creates a record of your 
analysis, and makes it reproducible, which is an important part of engaging in open science practices 
(Section 3.6).

SPSS Tip 4.6
Funny numbers 

SPSS sometimes reports numbers with the letter ‘E’ placed in the mix just to 
confuse you. For example, you might see a value such as 9.612 E−02. Many 
students find this notation confusing. This notation means 9.61 × 10−2 , which 
might be a more familiar notation, or could be even more confusing. Think of 
E−02 as meaning ‘move the decimal place 2 places to the left’, so 9.612 E−02 
becomes 0.09612. If the notation reads 9.612 E−01, then that would be 
0.9612, and 9.612 E−03 would be 0.009612. Conversely, E+02 (notice the 
minus sign has changed) means ‘move the decimal place 2 places to the 
right’, so, 9.612 E+02 becomes 961.2.




